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10.

OR(3721dT)
Describe Gravity settling tanks and cone classifier.

Ffad) A=feim S vd I FARNBRR &1
qufq @ |

Explain the construction and working of a plate

and frame filter press , with neat sketch.

Ueh @8 a9 @ 91 wic yd A fhoeex
99 @ 91ac ud i fafer &1 avfa &¥ |

OR(37214T)

With a neat sketch, describe the principle construction

and working procedure of a cyclone separator.

TP W8 T & 91l 9iddlid duWRex ©
figida, sd1ac vd &t fafer &1 qoiq & |

Describe briefly about ball mill. Also derive an

expression for critical speed of a ball mill. 8

Time : 3Hrs.
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Sem - V (Chem)
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Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5.

sl Reqas wefiA &1 affeovor gega a¥ |

Write difference between crushing and grinding.

4
ST T UISfET 7 =R &l ford |
OR (3121a1)
Differentiate between Grizzlies and Trommels.
fireiferst 3R glIed § =R W &Y |
Write down factors affecting rate of filteration.
4

P @I X B YHTAd HA dTdd BRI
P fored |

OR(3721dT)

Describe Banbury mixer briefly.

d&ag d 999 e &1 quis &Y |

0T5008

(i)

(1ii)

(1ii)

(iv)

3

14503

g dfed 9y @1 Y& AT o1 Gobar 2 |

(31) W@l UReR §RT
(@) 977 fheex gT

(@) dfad) AR grRI

(]) <FIeR AwYST §RT

The unit specific cake resistance is
(a) gm/cm?
(b) cm/gm
(c) cm/gm?
(d) gm/gm

fafdre % Ay B 3H1E °
(31) U /Aoio?

@) dofto/umH

(|) AoHlo /UTH2

() y™m/wuH

Froath floatation is the most suitable for

treating.

(a) Iron Ores

(b) Sulphide Ores
(c) Quartzite

(d) None of these
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xx) el g9 fheex ¥ g4 i g4 °
fPeg T e

(31) dedr @

(@) Na® v | dedr &
(\) wedr @

(%) srywTafa <=ar @

GROUPB

Answer all Five Questions.
aHl ufg 9Tl @ SR < |

2. Define and explain crushing efficiency.

4x5=20

4
ST &adr B IRATNG vd aareaifad Y |

0T5008

(vi)

(vii)

(vii)

(viii)

5 14503

frafas f&d srerT 1 @ forg ygaa
Bl o |

(a1 &I s &1

(@) wd= s &1

(@) fot +ft smeR @& s &I

() 39 9 BIg T8

Basic slags can be grounded in
(a) Tube mills

(b) Ball mills

(c) Compartment mill

(d) All of the above

IRNTH T B YIS fHAT W7 HHAr B
(31) <79 fer 9

(=9) sfa frar @

(¥) e a9

(%) SwWiaa g+ 4

In sugar mills , we use ...............

(a) Sun pended batch basket centrifuge
(b) Continuous centrifuge

(c) Bowl centrifuge

(d) Disc-bowl centrifuge
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(i) Cod  IEI W FHD g Ul uTw
B BTG o IUHRYT Fdsd &idl @ |

(31) JeR HER
(@) sra—fra

(|) <If Hax

(]) SRRTH HAR

(xvii) Filter aid is used:
(a) To increase the rate of filteration
(b) To decrease the pressure drop
(c) To increase the posesity of the cake
(d) None of these

(xvii) flheex Us &I SUIIT BIdT 2 |
(@1 fhegws & fd & 9™ o
(@) 99% U "™
(A) @ @ TR e °
(@) 379 @ ®Ig E

(xviil) Kicks law relates to :
(a) Energy consumption
(b) Final particle size
(c) Feed size
(d) None of these

0T5008

x)

(xi)

(xi)

(xii)

(|) ok fraax
() 3 4 BIg T8l

Ball mill is used for:
(a) Crushing

(b) Coarse grinding
(c¢) Fine grinding
(d) Attrition

qidd #ie &1 SUAT BT &
(@) wRiT =?g

@) =« goffevor 2g

(@) wd goffever 2g

(3) v 2g

Crushing efficiency of a machine ranges
between.

(a) 0.1 to 2%

(b) 5to 10%

(c) 20 to 25%

(d) 50 to 70%
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11.

dfcd i & IR o G849 o quiq &, dicd
M & forReda wfis & forv ve e
U B |

OR (3121an)

Calculate the operating speed of a ball mill from
the data given below :

(1) Diameter of ball mill = 800 mm

(i1) Diameter of ball 55% = 60 mm

if (a) operating speed is less than the critical speed

(b) critical speed is 40% more than operating speed.

i fau Ser 9 dfa Ma &1 TwfET wfie
DY AT BN |

(i) 9T &T AT =800 HioHlo

(ii) 9Tel &1 g™ =60 HioHlo

Ify (A1) fRfeT wfie foufera ws I 55%
U T |

@) fpfeda wiis , ATRfET ws @ 40%
rfers 2 |

Write notes on the following :
(a) Vibrating screen 8
(b) Filter aids

P.T.O
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11.

dfct fid & IR o G847 o quiq &, dicd
Wi & fplRedd Tfis & foau e @@we M
T BN |

OR(3121dr)

Calculate the operating speed of a ball mill from
the data given below :

(1) Diameter of ball mill = 800 mm

(i1) Diameter of ball 55% = 60 mm

if (a) operating speed is less than the critical speed
(b) critical speed is 40% more than operating speed.

fa fou Ser 9 dfa fia o1 AT dfis
DY IOET BN |

(i) dfdl &1 <arg =800 HioHlo

(i) 9Tl @I a1 = 60 HioHlo

afe (1) AfRfeT wfie fufedrd wfie | 55%
C

(@) fpfeda wfis , ATRfET wis 4 40%
Afere 2|

Write notes on the following :
(a) Vibrating screen 8
(b) Filter aids

P.T.O
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